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e Tk HOIXL digEd 7, 2UlE™ S oot X+=2| H[o]E = |2
R B, S TS AL DB(IE A
« 271 O|0|H = E ot HLiA ™ CHEAE =228 (& B)
a5 AR +27) & B(27)) 1 A+J1EB

o (n=5) = (n=6) aps| (n=11) 0 (n=95) = (n=4) aps| (n=9) 0 (n=10) 'E.*(n=10) apS| (n=20)
LtO
(yl.rsg 42 8+4.3 47285 452+7.0 474155 458+74 46.746.3 454153 46.7+7.8 46.11+6.6
7
(c"!) 162.2+3.8 174.5+55 169.2+8.1 159.0+6.0 170.7+2.3 164.2+7.6 160.0348 172.5%49 166.2+8.0
=
(kq) 64.0+t4.3 81.7+95 73.7+x11.7 59.1%105 728+9.0 65.2+116 61.8%+8.1 77.4+8.8 69.6%11.5
AL R 2EX| 2
-i(lkj/if)l_'_ 24 .3+1.2 26.8%2.1 25.7+2.1 23.2+2.9 24134 24.0+3.1 24.1x2.3 26.0£2.7 25.0+2.6
EE?IO
rel 20l 83.9+2.0 899+7.3 87.2%6.2 84.4+80 87.1+3.5 856+6.2 84.2+55 88.8t6.2 86.51+6.1
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| =H I Y o 9| =AY oF Rt
AN GHF NERIE QHHAIGES A BRYYS beat/min E2 HRrest
g Sal HEIIE A A e beat/min et HRc
7| MHE S5 0lcm S Z 53 cm BSM370 3|
= | AFIE =5 Olkg Sz = kg cas— PB150 =5
Ch2l< ol AlRH =5 B ALEN 2 20t E 2 2= 0} cm rolifix 150cm Ctal & 0|
d3 B EEAAE APCHYA 2D ¥ 2l loZoict @2 1~20 =EAMAE B m:*E
A T=IEY A S 2 EHAMNEE £F mmHg GAMMAXX]LLF
2HE A Ol 2B - AEI s JEAEE EH mmHg GAMMAXELLE
MAFSIC AEDI| S AFAAR PIE AESE S &5 % PulseOximeter SpO2
. T2y B8
23 & ==Y AlE 2| 5 - mmHg Tango M2
NEH 5F
T2AE E
22 SOENEY AlE | = - mmHg Tango M2
NEW =7
A UEFE EUHE) HED Y chatE SHE Al GEE2te B MANHY Keal/h K5 YOz
LR A EGFE W HER D A O A BESOt BR A LR keal/min K5 V02
TAE A B
20 B UEsEEd) LR NE L] N Keal/h K5 EE
BR ALEE Y
TALE 2 B
20| B ALHHT (MO AL CfALA Keal/min K5 EE
TR ALEIY
PAE 20| B
27 S HAMEE MED DY ChAIH D METs KS MET
I3 MY
gi= SH wel A4 A% SH testoB08H
Eha SaH wol MY AFEY % testof08H 1
22 dIAld 22| ol AHESSEH AHSEAR S A2 min, s 22
B S8T =25 SHEUI0lM I 2 ClOIEI B P2AE RIS 2 spm stryd SR
EY =R 2 2ol H Bl S DA FHAIE A2 km COSMEDTINoDE
273 of
SUSY HIA2 22H Hol h.min,s COSMEDTINoDE
I = A2
cQ o =H | o
EYEL AT E2H wel % COSMEDTINoDE
JEE JAE
EHEREST SalH Hol SHEH 0N 2SS Colgf B PE TR2E B spm Stryd SR
gd dIFE 2| H b0l EFEY MM IES HOIEHE PNE BRI A kmih stryd spd
SUER S E2x wol SIAAB UM PAD FREC S AYLE N AIS km/h COSMEDTINoDE Spd
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A1E 0[] B4 waay HI0IE] 215
VS| AAISH A GI0|E A9l 25 A% H%0| A7 )9 BT AR T2HE 17) BR S oolH
Rzbe s 1% 747 HO|E 7|2 = i . T
CIO|E| S.E| At ZETHX| 25 ClO|E| BR80] P24 BAZ B4 20 AL
E——
Liol A=A Bt Lio|= 7|2
e Lo
HPHUBD AHYE D5 HOjsHe (HAXIEE 2749 HOIE
7 MUY H ALR U B 5 ~FH AR 0 g o) A
| L& 2= 2=H H HmIr2|of A g2 she AR maos AR
_ HEHEHD HUEE 25 &adst= Qi XAES 2712 oy
s ASH A 9|3t O] 9 Hu| A8 3 =N o)z g SAAE HE ;
HRO2 ALS
MRS
N M (kg)/AZ ) ()| (m)} HAAIE AL
(BMIY
cr2| o) FAEE I EE 9HE = &0 TR 0| ZO| emz 7| S o S

QR Al 4

12 24 oY 7|15

HEet JEiE AT F 5ES UL ol EddtE ALE

{HRr)
O = | CH & Y} (220-L+0)) x
HR% T7he LIEL S Alsbs [ O|E 7|2 TZHE LPEPL TR Alur5 FCHAlSf=- CfH| %E it 7ol YT CHarAbE P2 1749| 2HE O|0|E 240 AHE
L A|SEFHEEH SE %0 HOHE PIEE UE
Spd(A-O E) 1Z£ IHH HIolH ?|= == 1B=AT doEE ¥ = 2 A CHEREE P2 1712] 248 OI0E 40 AHE

Hoilo= st

SR(FAO|E =, BE )

1% 24+2{ Ol0|E 7|12

Ll A EHEEHEH FEEES HOHEFUE=E L= F
HAYOS gt

el A CHakAbE F2HE 1742 3HE HI0IE 240 AHE

SpOs
T B2 F HO[E 7|5 -
(A4 ZSHE)
E-FAPVPICTES LI E AMEE R TR0 LHEAIE ZTDX| 2 E CIo|H
1% 7t Gjo|g 7|12 Hel A C{aXpE P2 17 BR U2 OIOH 240 A
(HRe) S2s0] BAZ A -
ST
Huts | -4 9t 4O Al 4t
HRR) = | CJ A1t 4= OF B A| Al b4
SadYs Alets HifdYT2SEE
(%HRR) +OHE A 4 ot
E AL HR% EAIA| LEPL WMo A= HIOE] 7|5 NP A CHaPEE A2HE 1719] g2 = GI0jE 240 ALE

44| SH A4 (HRe %HRR)

Feg 2=+ A Y

FAIA| LIRS B AUSS HO) AU (HH] %2 B
BAIA| LPERL R A4S SEAYLS TAOR HUB0 %

JHel A5 CiarRrE b 1712 22 HI0|H 240 AR

A QA7 1% 7+ Ojo|E 7|& SEX ZETHCO AIZHE 7|E F PIUE AZHE B0 E2 g I PP CMAE PIHE 1719 28 GO 40 AHE
o A X| - H| 3 3~4%E IHAHGO|H 7|8 THE LIEHE WA XS H|BE AL 0o M CHEXE P2 1712 28 ol E40 A
CHAPEHZE I~4E HAGIOIH 7|5 TS LIEFE W of| X H| 28 AL 0 Ht CHar RS 20 1719 38 CIOjE| B840 AHE
Lha G F 3~4% IHHOO|H 7| 5§ TS LIEH WA | XS H|2FE AL el A CHAHE F2vE 1749] €48 GIOIE &40 AHE
=79y mmHg SHEAISI ESEE s0mTE =3 el S CHafArSE F7bE 1712 §H8 CIojH 240 AHs
o|gtz|Ee mmHg SHEAISI 2FEE somTE =3 7iel 7 CHafAbE F7he 1749] g8 GIo|H 240 A
s =1 mmHg EHEA| T7HE LIEIH S7| S E0A O 7| R E W 3t 7l M7 CHatRbE b 1702] 248 oY 240 AtE
HASHY mmHg (TS| EHY-0|§7|HEN3) + O|RT|HE 7o T CfaAE P7HE 1710 2HE O|0jE 40 AR
TIE A ER cm TUEIRASS IS E BT QOISE 02 = i = 0 AP CH&REE 2R 1702] 248 GIOIE B40 AHE
dB¢E gt B A7vE Hel/ =T /= Bt
Tt A/ CiH| LhaHF S mi'kg/step TIE Be M/ AUE HR B 7iel M CHabAbE 7HE 1749] 248 GI0|H 24 0f AR
T Auta [iH] b A a) mikg/beat TZHE S At o o Zh ol i CHaIXbe P2k 1740) ZH2 GlojE 2 o) A8




SHEA

—> —

« j|O|E{ 72
H|0|E{1Q] X2 X{2|= Microsoft office excel Ver. 20162 Atst

o SHX2
S X2|= IBM SPSS statistics(PC/Ver) 262 0|&
TS24 2 X}o|= LHEtE = 242 A (0One-way Repeated Measured ANOVA)= &8
HOIZE XHO|7t M 22H0IM US B2, B E4HE4(0One-way ANOVA)S AFESIH Atz E4{(Bonferroni)S A Al
15(22|2f 2l)t 2 240]| h= Xj0|= SEHEE T A’d(Independent Sample T-test) 2= F4

EAX™ Q9o 32 0=.05

= 7T T
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r r r

« 220} J1210| F7| Aut, JL240f| = XfO|Jt LIEFE(p<0.001). Al
X S.0|AM0| L}EHH(p<O. 001) Il 2F 11l FL2tof|

o Li2[9) 2tef S 23, v, V, VI M| f2ZHo[A 2] SAHA F2ld2 LIEILHX] &5

AE
*t

e @20} LIt r 19| 54 Al 2|2 4l8t4 Hotof| M 120 XH0|E EQl(p<0.001), AtZ2MAat, | ~ 1l 2L
I~ lll 32H(p<0,05), lli~ IV 72H{p<0.001)0{lA 28! I =0h SHS 72l 80| LiEHE.
I~ 1l 2} 11~V SL2F AtO|of|= o] &t xt0|2F LIEFLFX] O
At ZHof mHE AEfs HE} (beats/min)
F P-Value post-hoc
I HR(a) 1201 + 132
I HR (b) 1353 + 149 40.374 < 0.001 a<b™*, c™*
I HR (c) 1365 + 16.1
IV _HR (a) 1105 + 144
V_HR (b) 1120 + 157 1.964 0.166 ns
VI_HR (c) 1134 + 145
I-I HRc (a) 1008 + 11.9
II-I_HRc (b) 1083 + 158 11.129 < 0.001 a<b*, c**
M-IV _HRc (c) 1136 + 1238
Values are mean+S0D, HRE: Heart rate, HRc: HR recovery, significant difference: =p<0.05, =+==p<0.001, ns: non siagnificant
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1]

Ny
IS

o H2HE LARSIE= Q2801 |, I, Il AZHA SAHIX XHO|Jt LIEtLEX] 24

LS O

o LHE|SQL IV, V, VI 2HOf| M 2 1240)| [h-2 S A X XtO|2f LIEfLEX| 25

Al A 2H0)| HE Aol o} (%)
F P-Value post-hoc
I SpO, 95.7 + 2.7
II_SpO, 957 + 1.3 0.000  1.000 ns
M SpO, 95.7 + 0.9
IV_SpO, 96.4 + 2.0
V_SpO, 964 + 1.6 0.409 0.670 ns
VI _SpO, 96.7 + 1.1

Values are meantSD, SpO,: peripheral oxygen saturation, ns: non significant
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o AFSHO|| [T}2 @ 2 0F0j A A|CHAIMLA CHH] ATHSEZES NI, I, | 202 &7 LIELL} 27H Xt0|7} Q20| EH01E212(p<0.001)
A2 2MZa, | 2, | S2kER i 220N S A E] [2]/d 0] LiEHE (p<0.001). I F2kat Il 2Holl= SAIH {24 80| LIEILEX] S
+ AH8H 5 L2 |20l A Z|CHAIEES CfH| ATHRSUES IV, V, VIO 22H0 TH2 ST Xf0|oF LIEILIX| oS
e M3l = © 200 A O RAlEES CHH| ATHRSZE= I, I, | 92 & LIELL J12HE Xto| 7t /20| &H2lg|212(p<0.001)
AEEA AT}, | P2k I P2, | 2kap i 220l SH Q0/40] LIEHH(p<0.001). Il T2t Il 720 EHX £2/ 40| LIELLX| ot
o ASH = L{Z|Bt0)| A | QAlEES CHH| MTHRSZE= IV, V, VIOIAM 12t0| L2 S| A X0| 7t LIELIX| QS
At [ZHOl| M2 AT ST B} (%)
F P-Value post-hoc
I_HR% (a) 685 + 68
LAl s+ 18 42.137 < 0.001 a < b, c*
M_HR% (c) 782 &+ 92
IV_HR% (a) 632 + 82
V_HR% (b) 641 + 83 2.357 0.121 ns
VI_HR% (c) 650 + 79
I_HRR% (a) 421 & 121
I_HRR% (b) 586 + 124 28 790 < 0.001 I ——
_HRR% (c) 603 + 141
IV_HRR% (a) 327 + 119
V_HRR% (b) 340 & 132 1532 0.240 ns
VI_HRR% (c) 354 + 123

Values are mean+SD, HR%: Relative exercise intensity compared to maximum heart rate, HRR%: Relative exercise intensity compared to HRR, significant diff
erence: ***p<0.001, ns: non significant
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1]

]
I

Ol M L 2Ho]| [HE S A X X}o|o 2Rl &[S (p<0.001)
. J"-f 1 A2k —TL:’HHIH SAH w—l“ol LtEHE (p<0.001)
| Zkap I 2Holls EAE S0|A0| LIEFLIX| &L

JD
o =

 LHE|2HO|M 22 2B == V, V, VI 20| E SAHH 0|7}t LIEILIX] 5

AbSh D70 M2 FRE 2SUE B3 (score)
F P-Value post-hoc
I RPE (a) 98 + 22
II_RPE (b) 127 = 1.7 15.505 < 0.001 a <b*™, c***
I _RPE (c) 124 + 1.0
IV_RPE (a) 96 + 20
V_RPE (b) 93 + 20 0.676 0.520 ns
VI_RPE (c) 93 + 19

Values are mean+SD, RPE: Rating of perceived exertion, significant difference: ***p<0.001, ns: non significant
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1]

5
I

« LEBO|M Pt Bl 2 A2 IE SAHH XH0|ot = E|AUZ(p<0.001)
ol S2EE o, 1 2R I 20N S A 72]-80] LIEE (p<0.001)
of

o LHZ|2OA WA H3lE= 28 210 2 EH|1X Xt0|7t 215 Z(p<0.05)
V 22t0p v 2Ho|A SHA f2|/d0| LIEH (p<0.001)
FVI 220l SA4|1A §2]440]| LIEILEX] S

<
-
r
|
=
-4
N =
H:
<
-
r
k=

Al D7) 2 W@ B (spm)

F P-Value  post-hoc

I_SR(a) 1023 + 10.1
I SR (b) 929 + 124
20.426 <0.001 a<b*** c***
M SR (c) 912 + 7.2
IV_SR (a) 1023 + 9.5
V_SR (b) 1076 + 8.3 4524  0.024 a<b*
VL SR (c) 1069 + 85

Values are mean+SD, SR: Step rate, significant difference: *p<0.05, ***p<0.001
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OS2I oIS 2000 12 BA §UO| LIELS(p<0.001)
Zap | 72t0| I, Il 32hec} 20} Bt £ S0]40| LiEte(p<0.007)
| D2t S0l Eo% 9 o15o] LiEILIR| %2

o LH2|T}0|M HO|S 2= A2 e SAA /2|4 0| LiEH!S(p<0.001)
, 2O A £ =201 I4% 2| LEELLE IV 12Hp<0.001)2t V 22H0|A{(p<0.01) SAHEH S Z 2|t 0|2} LIE}H
Vel v RZHlE & I'i XtO|2} LIEILEX] &S

ol A2 E Bw RS (km/hr)
F P-Value post-hoc
I _Spd (a) 38 + 04
II_Spd (b) 34 + 04 14.240 < 0.001 a < b***, c***
II_Spd (c) 34 + 04
IV_Spd (a) 35 + 04
V_Spd (b) 36 + 04 14.721 < 0.001 c< a***, b**
VI Spd (c) 40 + 05

Values are meantSD, Spd: Step speed, significant difference: **p<0.01, ***p<0.001
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+ 2H BAS BES o200l |, I, Il RO SHN Kfo|7} LIELLX| 248

o LHE|2HOj|M SHES BEE2 242 F2let X0| 7} LIEHE (p<0.01)
AtZE2EM A V) 20| M EZ0| JFE 3H| LIELLE, V 22Hp<0.01), IV 32H(p<0.05)0|A EH| X2 QO|5t X}0|7} LIEFLt

VA28t VIO M = F2leh XHO|PF LIEHLEX] B4

A L7t MHE SHEZ EX B} (cm)

F P-Value post-hoc

I SHEE EX (a) 63.0 + 82

I °HEE E= (b) 632 + 7.8 0.425 0.660 ns

M3ZES EE (¢) 615 + 87

IV3HES EXE (a) 584 + 120

V_SHEE EX (b) 555 + 10.0 6.921 0.006 c > a* b**

VI SHZES EZ (¢) 708 + 6.0

Values are meanzSD, significant difference: *p<0.05, **p<0.01, ns: non significant



[
02
1
A
=
i
%
I
1i0
X
L
[&
ok

75.0
90
=
85 T _wx
70.0 : _|
BO l I
| |
- 75
65.0 . E | I
' o ol B#H8s% = 70 1 oy MYEW
0] | . M I o
5 ] v E oy MYUES
N H 65 r v.aaes
EO HEERT oyl MUSY
60.0 ol " "¢
L o
b7,y . Q
55.0 J ©
as
50.0 a0
I_g@s=s n_gEs=s m_gdses v_Buges v_ttuges v gzges

| M| M




(Z71)

2. 2lli=
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B
I

o @20F J1I10| B3| Z 1}, 12H0)| 2 Xt0| 2} LIEH (p<0.001)
H | 222t Hlws) 1, 1 22H|A =0F EA4A {2|4d0| LIEHH (p<0.001)

o Lij2|2} 2to| SH| Zat, 240 hE Xt0| 7}t LIEH (p<0.001)
V20| A IV SL2Eat VI 2R CE HRO| =0t SH|XH S 2 0|2t LEEHE (p<0.001)
IV 22k Vi 32F ALO[of| A S A1 2|42 LIEILLX]

« RE8F A2t ALO|2] F 4| A| 2| F 444 BIS0Hd 212HE XHO|
AIZEMAD} | ~ | ZZEECE I~ 22F, I~V FZHo|A A

ore
L OO

2l(p<0.001)
’t =0 SAHIE 72l°80]| LtE['=(p<0.001)

I~ 23f N~V F2F ALO|0|l= S-2|St X}O| 2} LIEfLIX| St
27| 740 IE S8+ et (beats/min)
F P-Value post-hoc
I _HR (a) 1154 + 137
a < b, cre*

I HR (b) 140.3 + 156 113.674 < 0.001 ”
II_HR (c) 1336 + 17.8 Pme
IV_HR (a) 1029 + 124
V_HR (b) 1054 + 1338 39.850 < 0.001 b > a***, ¢***
VI_HR (c) 1019 + 136

I-II HRc (a) 923 + 127

II-M_HRc (b) 1043 + 118 27.075 < 0.001 a < pb*™*, ¢***

II-IV_HRc (c) 103.8 + 122

Values are meantSD, HR: Heart rate, HRc: HR recovery, significant difference: ***p<0.001
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1]

Ny
IS

A
=NE2d), | A0
ZEak Stk Se2kat i 2HollE A KHO[o) LIEHLEX] 25S

o LH2|TRL IV, V, VI 2O M Zf 1 2kof| 2 S A X10] 9} LIELEX] 25

a7 40 E daZot: Ho}

+2HE Aot Of o 20| A F2et XtO| It LIE}E(p<0.01)
I AL A TBHEI O SAH2E {2l LIEHE (p<0.01)

(%)

F P-Value post-hoc
I_SpO, 9%6.1 + 1.0
II_SpO, 949 + 15 5.415 0.009 a>b**
I SpO, 957 + 13
IV_SpO, 964 = 1.0
V_Sp0O, 96.3 + 1.2 1.455 0.260 ns
VI_SpO, 96.7 = 0.9

Values are meantSD, SpO,: peripheral oxygen saturation, significant difference: **p<0.01, ns: non significant
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=" -) —4
I8 di2sE T 21
o HJ| J2t0)| 2 2 E9}0f|A £[CHA s CHH| MTHRSZAZ= 1I, I, | £2F =2 LIEfL) 2HE Xjo|o}F Q120 &1L} S(p<0.001)
At 2MAar | pzkab g, | 2k I 2o A S| 2|440| LIEFE(p<0.001) EESE || 22H0] Il R2HELCH S0t SH|X 2|40| LIEH)(p<0.001)
« HJ| 3 L{2| 20| A X|CHAIENS CHH| ATHS S 2 E = 121 X0|2} Q10| EA|M o2 Q9|8 X}0|7} LIEH (p<0.001)
A2 24 A0, V 2O IV, VI 2tELC 20 SAHE {F2]°d0| LIEHE (p<0.001) IV 71282t Vi 22H0l[AM = SAHIF XHO[2} LIEFLEX| 84S
o 47| F2tof| 2 LETO|N R CHH| JU2SZE= I, I, | &2 =2 5| LIEfL 12HE X10|2t U S 0| Z0I%E|H S (p<0.001)
AFEMZADL | 22030, 1 223 220N SAHH 92/440| LIEH(p<0.001) E3H I F2H0] Il L2HECH &0 SH|H 2|40 LtEH:L(p<0.01)

« 27| 3 W20l M Cﬂ%”e.hl.*—"r— CHH| Y253 ==-+2HE X0]2F U0 SAHHL = {2l X}0[2} LiEHE (p<0.001)
AI22A4 23}, vV 22ZH0f|M v, VI fA2EEC F0F SAH {2|4d0| LIEHE(p<0.001) IV #2ka} VI f22Hol[M = A1 XtO| 7t LIEFLEX]| =
i}

27| P70 ME NUREYL H} (%)
F P-Value post-hoc
I _HR% (a) 66.0 + 7.7
H_HR% f_b:l EG.E + 9_4 a< b*n*1 [ ipiai
104.340 < 0.001
b>¢
II_HR% (c) T76.4 + 10.8
IV_HR% (a) 58.7 + 7.3
V_HR% (b) 60.2 t 7.7
23518 < 0.001 b= L Fe
VI_HR% (c) 58.3 + 7.7
I _HRR% (a) 38.9 + 9.8
II_HRR% (b) 651  + 140 a<b g
111.740 < 0.001
b b= cq*
I_HRR% (c) 58.3 + 15.9
IV_HRR% (a) 25.1 + 8.4
V_HRR% (b) 28.2 -- 10.0
17.722 < 0.001 b > a** c*™
VI_HRR% (c) 24 4 + 9.4

Values are meanzSD, HR%: Relative exercise intensity compared to maximum heart rate, HRR%: Relative exercise intensity compared to HRR, significant difference: ™ p<0.01,""p<0.001
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« R 2EYTE Q20t0) A 20| THE SAHX Kf0|7} HOIE|AS
2

x
AtZEA I | 2kt |
LSk || J2H0| Il AL =2

+ Li2| YOI = F2HY RSYEE 7200) Mt SHHO2 o3t Kto|} LiEtE(p<0.01)
A2, V T200)4 Vi 22ty
I

il | C:r

(p<0.001)
283 2 2HA SAHE 72|/d0] LIEHE (p<0.001)
A 2T =0 SAHA F2]d0] LIEH (p<0.001)

LIt H0t SAXLE X079 E¥(p<0.01)
SAHE X0} LIEtLIX] §iS

A7| 0| M2 F2N 2sdE B3t (score)
F P-Value post-hoc
I RPE (a) 1.1 = 1.8
a { b***1 C***
II RPE (b) 140 = 14 37.841 < 0.001 .
> C*'!r*
I RPE (c) 124 + 14
IV_RPE (a) 92 £+ 19
V_RPE (b) 99 + 20 5.732 0.007 b > ¢c**
VI_RPE (c) 89 £+ 1.9

Values are meantSD, RPE: Rating of perceived exertion, significant difference: **p<0.01, ***p<0.001
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1]

5
I

dmr H

08

2 241

o Q20| A “4-?-‘ Haolla= 2 1210f| 12H0f| [HE EA|A X}0|7t 21| 2(p<0.001)
Ar$E*’ﬂ+“"Et | F20af 0, | S22 I 220N S A4 7-2]/4 0| LIEHH (p<0.001)
I S22k8f Il 210 = SAHA F2|/d0| LIEILIX| S

o LiE|Hoj| M Bt Hlp= 2 2100 HE SAHR XH0]2F =l k[ S(p<0.001)
APEEMZATE v 220 A Eaiat IFE B0} v 22H(p<0.05), VI 712H(p<0.001)0llM EHH Lo|40| Liete
o IV AZH0[M VI S 2EECE BT BOF SHKH2E 72[ohH| LIEHH(p<0.01)

27| 40 hE B Ed= (spm)
F P-Value post-hoc

I_SR(a) 1016 + 10.5
I SR (b) 94 .1 + 938

14.850 < 0.001 a < b*** c*™*
II_SR (c) 953 10.3
IV_SR (a) Mr7 + 79
V_SR (b) 1195 + 8.2 b > a*, c***

22.763 < 0.001

a = c**

VI_SR (c) 115.1 + 74

Values are meanzSD, SR: Step rate, significant difference : *p<0.05, **p<0.01, ***p<0.001



<k

=

I
i

Ul

Zr0ll Lk

rk
Al

Il

140

€ ¢« o
S_S.S_
= > >
O e o
@
-
* e
v
)
=
~
m 8 &8 | 94
L T B B D

(wds) LR

110

105

* % %

100

VI_SR

SR

L2|at 2

IV_SR

* % X

071 s
B sa
81 ss

b e :

M

wJ
o v o v w )
~ -4 4 (=1 an
—_ - — — —

AEamFW mm

&

[
]

a

II_SR

II_SR

SR
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B
I

1 OH 4~
TR AT 1)

E

« 22910l AV|SE= 220 el SAH {2ld0| LIEHSE S (p<0.001)
At2EA A, | F20[ I, NI 2P 201 Rel SAHH |F2|°40] LIEHH(p<0.001)
I <2208 I 22H0l= SAA 72 80| LIEILA| 5

o LI2|9ollM 27|52 1200 el SAA 72| 30] LIEHLS(p<0.001)
A2 2AM At V) L2H0|A S22 OHE w2 A LEEFLE IV 312H(p<0.05)2t V F2H0|A{(p<0.001) EAH|H S 2 §o|ot XtO|2} LtE}
Vet V J2t0ll= Foleh XtO|7t LIEFLIX]| P&

A7| 20| 2 B 2SS (km/hr)

F P-Value post-hoc

I_Spd (a) 37 + 03

II_Spd (b) 32 + 03 11.925  <0.001 g < b e

_Spd (c) 34 = 03

IV_Spd (a) 42 + 04

V_Spd (b) 41 = 05 8.365  <0.001 c< a*, b***

VI_Spd (c) 43 + 04

Values are mean+SD, Spd: Step speed, significant difference: *p<0.05, ***p<0.001
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"\
IS

Uoll= SAE 7280 LIEILIX] 255

=

AFEEAM AT} VI LZboll M EEO| JFA 3| LIELY IV, V RL2to)lA EH RO 2 Q08 10|} LtEH:(p<0.05)
i< 0|8t Xt0| 2} LIEHLIX]| 2t

27| 40 e stEg BE5 Bt (cm)
F P-Value post-hoc
I 3HE8 EX (a) 612 + 57
I 3HZES EE (b) 573 + 7.7
9.441 < 0.001 a > b
M oHES 2% () 504 + 6.8
IVSEE EX (a) 576 + 7.4
V_SHZEE EE (b) 577 + 8.0
33.843 < 0.001 c >a**, b**
VI.SHE S EX (c) 638 + 6.6

Values are meanzSD, significant difference : **p<0.01, ***p<0.001
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— S e) '
J| #219] AAHFEF HaK(ml/kg/min)
- 220} 22t0f|A EH|H Q2|440| LIEHES(p<0.001)
A2 E2AZ0, I A200] | 280 Il 2HEC} £0F SAFH 2 E 72| (p<0.001)
Il 712t | 22HECE 0 SAHLSE |F2|ef(p<0.01)
I 220t 1 22hofl= SHE [F2l/d0] LIEHLIX| giZ
o Li2| oM = A2HE |F2|ot X}0|Jt LIEH (p<0.001)
ASEMZAD vV 12H0M VI 2Lt =0t S| M o2 Q9|8 Xt0| 7} LIEHE(p<0.05)
IV 2tap v 3zk 51V 2283} VoA = |2|8t XHO] 7t LIEFLEX| g5
A7| 77| ArAM T Hot 1 (ml/kg/min))
P-
F post-hoc
Value
I VO, (a) 222 + 28
II VO, (b) 285 + 46 < N (e
31.458
0.001 a<c*
I VO, (c) 252 + 36
IV_VO, (a) 17 = 32
V_VO, (b) 12.1 + 26 <
15.201 b>c*
0.001
VI VO, (c) 11.1 + 24

Values are meantSD, VO,: oxygen uptake, significantdifference: *p<0.05, **p<0.01, ***p<0.001
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J| 20| AAEE|IZEF HSHMI/min)

« 220F J1IM0f| M SAIN R2|4d0| LIEH}Z(p<0.001)
AlSEMA 27 af, I R240] i 203k I 22 =0 SHHCE {2l (p<0.001)

Il 22t | R2HECH &0 SHHOZ m'~:1'|'=»*(|:>-::0 001)
I A2EDp I 2240l = SAHH 72/°d0| LIEHLEX] 252

=]

o LI2[2f0| M = F2HE [2|8h X[O| 7} LtE}E(p<0.001)

AtZ2M A0 Vv 20| VI ECH =0 EA|X o2 {9|3t X}0| 2t LIEH (p<0.01)

[

IV 220 v a2k SV A28t VIO A = |2[ 8k XtO] T} LIELLEX| ¢85

27| o] Mg FF Bigt 2 (m/min)
F P-Value post-hoc
I VO, (a) 1523.1 + 203.2
II VO, (b) 20136 288.9 R e
70.436 < 0.001
a = G**#
I VO, (c) 17420 267.7
IV_VO, (a) 788.1 + 209.6
V_VO, (b) 8419 + 195.9
19.028 < 0.001 b>c*
VI VO, (c) 763.3 + 187.1

Values are meantSD, VO,: oxygen uptake, significant difference: **p<0.01, ***p<0.001
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« 228t 27H0j4 S §0|40| LIEF:LS(p<0.001)
ASEMZATL, 1| 32H0] | 72K(p<0.001)2F Il 12Hp<0.01)EC} &0t SHZ o2 Qo)
| | F2HEC}HE0L SEC 2 S9J8H(p<0.05)
I 23} 1 2bols AR S0/40]| LIEHIX| ke

o L2| ol M= A2HE {28t Xt0| 7}t LIE}E(p<0.01)
AMEEAMZR, V 220N VI 2Ot 50t SAXH 2 2 {2|ot XHO|2f LHEHE (p<0.01)
IV R2tap v 2E S IV 2283 VIO = [2|3 X}0| 7t LIEFLEX| 24

47| J1710| CHAFE 2 B3} (ml/kg/min)
P-
F post-hoc
Value
I METs (a) 6.0 + 1.6
I _METs (b) 7.4 E 2.1 < b > a** c**
19.443 T
: a<c*
II METs (c) 6.7 + 1.7
IV_METs (a) 4.0 + 1.8
V_METs (b) 4.2 + 2.0 5747 0.007 b > c**
VI _METs (c) 3.6 + 1.2

Values are mean+SD, METs: metabolic equivalent, significant difference: *p<0.05, **p<0.01, ***p<0.001
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J|

ZHO| ZASALHH| AtA KA

T

O

o QETM0||M HD| R2tQ| HZ 4 CiH| MAMEFHE SAHA |2/40| LIEHES(p<0.001)
AtZ2M AT || 2200 | 2t} 1 R2HECH =0 SAHX o 2 {28 (p<0.001)
Il 2tE | J2EC} =0 EH XM O Z 29|3Hp<0.001)
I 252} I A 2H0l= SAHA F2l/d0| LIEILEX| =

=]

-« Li2[atol A 27| F2te] A 4rhH| AA MY EHH 9O

O O

|’40| LIEFLIX] 245

27| #4128 A5l Sy Wt (m/kg/step)
F P-Value post-hoc

I_Z3= OiH| VO, (a) 022 + 0.03

I ZH22 CjH| VO, (b) 030 + 0.05 65.021 0.000 07 ac
m_Z2= CthH| VO, (o) 027 + 0.04 ase

IvV_ Zd&= tiH| VO, (a) 010 + 0.02

V_ZA8=% CiH| VO, (b) 0.10 + 0.02 5.466 0.014 ns

VL. Z2= OiH| VO, (o) 0.10 + 0.02

Values are mean+SD, VO,: oxygen uptake, significantdifference: ***p<0.001, ns: non significant
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20| A2t Gl KIHIE Bt

- 22010}l Of|LX| AH|ZS L2b0| mfat SAH|H 22/40| LIENLS(p<0.001)
APEEA ZHot, || J1200] 1, Il F2HECHs0F SHH £2|X0| LEEF (p<0.001)
| FHECH I 20| 50t EAHHO R Q0[st X{0|} LtEH:H(p<0.05)

o LH2|f0l|A 22| 2] AP Of| 4 X| 2H|F 2 SHH 7F2°d0] LIEILHX] 255

=

A7| 240 e AlZHE oL X 2B| 2 (keal/hr)
F P-Value post-hoc
I _EE (a) 4041 + 1122
II _EE (b) 5181 £+ 131.0 39.042 < 0.001 07 a***,*c***
_EE (c) 440.2 = 107.2 e

IV_EE (a) 289.7 % 162.5

V_EE (b) 286.5 * 160.5 2.748 0.077 ns

VI_EE (c) 265.1 + 1284

Values are mean+SD, significant difference: *p<0.05, ***p<0.001, ns: non significant
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| 201 F2t9] 25 OIHRIAHIZ Bzt

o @ 2010]| A Of| L X| A H|F E
AISEM AT} || J2H0] |,
S | 2EECEH | 220 &

2hof et 7| 99 40] LIRS (p<0.001)
I F2HECH S0t E7|X 99| 40| LiEP(p<0.001)
of EA=OS Soigt 2101} LI} (p<0.01)

+ LH2|2HOl|A] L X| AH| 22 22t0j k2t SH|X 22/40| LIERS(p<0.001)
NZEN 23}, V 22H0] VI 7HECH 0t S 8.0|40] LiEH(p<0.05)
V2EEE v, VI 2242 SAEOZ Qojet xfo]t LIELIX] 248

27| #¢0 g =9 dlH X 2B (kcal/min)
F P-Value post-hoc
I _EE (a) 7.3 = 1.1
b > a***, c***

ITI_EE (b) 96 + 2.0 36.347 < 0.001 "
II_EE (c) 83 + 15 .

IV_EE (a) 39 = 1.1

V_EE (b) 40 + 1.0 15.397 < 0.001 b >c*

VI _EE (c) 3.7 + 0.9

Values are meanzSD, significant difference: *p<0.05, **p<0.01, ***p<0.001
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QEOlYM{ HRE 2H0j| Al H 2|2t Al EAH|E O 2 QO|5t X0|T} LIEILIX| Y¥ES
@28k J17to| A7|2f A3l HR (beat/min)
t P-Value

47 115.1 + 11.7

I HR . -0.941 0.358
AL 120.1 + 13.2
A7 138.9 + 13.2

I HR ~ 0.588 0.563
AL 135.3 + 14.9
A7 132.5 + 16.0

M HR ~ -0.595 0.559
AL 136.5 = 16.1

Values are mean+SD, HR: Heart rate
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| LH2I2t T22t0] 247(9F Al HR HI

o LH2|2t0l| M HRE R E J12H0j|A] H 7|9} AtsHo| EH O Z Q0|5F 0|7} LIEFLIX| &2

—_ =]

L 2|8k F27to| A 7|2 AFsH HR (beat/min)
t P-Value

27| 103.2 + 11.9

IV_HR _ -1.300 0.208
Al 110.5 + 14 .4
vad 106.6 + 13.3

V_HR _ -0.880 0.389
At 112.0 4 15.7
vad 103.0 + 12.7

VI HR -1.776 0.091
A 113.4 + 14.5

-| 0%

Values are mean+SD, HR: Heart rate
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| @=at 12t AL0IO] E4l Al 21719 At HR HIm

+ DE Q20 FA| 204 27|29 AHO| EHFOZ Q0|8 X{O|} LIEILIX]| 2

o — LS O

=0t S Al JA7to| A7|2f Al HR (beat/min)
t P-Value

27| 93.0 + 10.0

I-II HRc _ -1.646 0.115
AL 100.8 + 11.9
27| 103.2 + 0.8

II-I0 HRc . -0.902 0.378
AL 108.3 + 15.8
A7 103.9 + 10.8

-IV_HRc ~ -1.905 0.071
AL 113.6 + 12.8

Values are mean+SD, HRc: HR recovery



10

L | .
ua

s % &8 8 & & 8 R
(unu/syeaq)ouy m- 11
s B
Y
° -4
_ ~
O fu
R & 3 § 8 8 R

(wwi/syeaqodd I1- 1

140

130

N =2 8 7

- ol -

(unu/s1eaq)oyH AI-II

2

-

27|




o QEOM|A HY|2} ASHO| MATSIEE= EAHXOZE [O|ot X[O|F} LIEFLIX| %S
RLEL 710 A7[9F Ml AR (%)
t P-Value

A7 96.5 + 0.9

I SpO, _ 0.848 0.406
AL 95.7 + 2.7
A7 95.1 + 1.4

I SpO, . -1.127 0.273
AL 95.7 + 1.3
A7 95.3 + 15

_SpO, ~ -0.865 0.397
AL 95.7 + 0.9

Values are mean+SD, SpO,: peripheral oxygen saturation
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| LHZI20] 24T|QF Atdl ALAIISIE H|m

¢ BE Li2|2t P2HollA] 2|9t AO| AMATSIE Hate SHHOR QoIst KtO|7} LIEILIX| 943

—_ =]

LH2|9f 17t Z7|f At MA ST (%)
t P-Value

27| 96.4 + 0.7

IV_SpO, . 0.000 1.000
AL 96.4 + 2.0
27| 95.9 + 1.0

V_SpO, ~ -0.801 0.433
AL 96.4 + 1.6
A7 96.5 + 1.0

VI_SpO, i -0.598 0.557
AL 96.7 + 1.1

Values are mean+SD, SpO,: peripheral oxygen saturation
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« Q20t0|A 27|t Atdlo| AN SYE ATt SHHO 2 QO3 Kt0|7} LIEFLIX] 943

—_ LS &3

t P-Value

ra vl 65.3 + 6.5

I HR% . -1.158 0.261
A 68.5 - 6.8
a7l 79.0 - 8.1

I _HR% _ 0.455 0.654
AL 77.5 + 7.8
vad 75.2 + 9.8

I HR% . -0.741 0.467
AbSH 78.2 + 9.2

Values are mean+SD, HR%: Relative exercise intensity compared to maximum heart rate
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| LH2IS 1210] X|CHAIBf4 [HH| HTHRS

. 2|30 A] 217|9} Ataio] AtTHR 5

1

H: .=l|d|'

72Ieh X}O[2} LEEFLEX]

oro

11— =]
LH 2|9 7t Z|CHaf8f== CHH| MOl 4d = 24t (%)
t P-Value

vapd 58.3 ~ 7.5

IV._HR% _ -1.466 0.158
AL 63.2 + 8.2
7| 60.4 + 7.9

V HR% . -1.078 0.294
AL 64.1 - 8.3
27| 58.5 + 7.6

VI HR% _ -1.976 0.062
AL 65.0 + 7.9

Values are meantSD, HR%: Relative exercise intensity compared to maximum heart rate
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LS &

(%)

t P-Value

£7] 37.4 + 0.8

I HRR% _ -1.010 0.325
Abal 42 1 + 12.1
27| 62.4 + 11.5

II_HRR% _ 0.744 0.466
AbcH 58.6 + 12.4
27| 55.9 + 13.8

I HRR% _ -0.745 0.465
Abal 60.3 + 14.1

Values are mean+SD, HRR%: Relative exercise intensity compared to HRR
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| LH2IS F1210] 0iKRAlEi4 [HH| 4THRS2E Z 1t

=Ll P*JIEH HO| AT A= VI FL2H0j[A] LH8HO] *EH—E Aot 4 &0}
?1|?£19 2|t X0| 2} LIEHH (p<O 05) Vv,V —‘PFOHHE AHS I OfA| LIEILEX] %S
Li2|9r 71Zte| O 3aldr OfH| A jsd T 21} (%)
t P-Value
A7 24.5 - 8.0
IV_HRR% ~ -1.893 0.073
Al 32.7 + 11.9
27| 28.0 + 9.9
V HRR% ~ -1.209 0.241
ALl 34.0 + 13.2
vad 24.3 + 9.1
VI HRR% ~ -2.400 0.026
ALl 35.4 + 12.3

Values are mean+SD, HRR%: Relative exercise intensity compared to HRR, significant difference: *p<0.05
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+ QETfO| M 27|} Ao FEHN 2E
8222 Roitt A0t LiEfH(p<0.05)
|, Il A2 M EXH o2 Solst AHo|7} LIEFLIX| 2t

2N 2SUT AT 1| 201 2|0 FBH
:

h

So=7t M 0t

o
LA

(score)

t P-Value

27| 11.1 + 2.3

I RPE _ 1.345 0.194
Al 0.8 - 2.2
47| 14.4 + 1.3

I RPE - 2.606 0.017
A 12.7 + 1.7
Z7| 12.7 + 1.7

I RPE . 0.588 0.563
AL 12.4 + 1.0

Values are mean+SD, RPE: Rating of perceived exertion, significant difference: *p<0.05
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F20] FUN 2SI A1
o LHZ|2O|A| H7|2} Atelio] RatH 2F UL Aits EX|X O 2 {O|ot XO|7f LIEILIX| QS
LH2[9 FHe =85 254 g1t (score)
t P-Value
47| 9.6 + 1.8
IV_RPE 0.056 0.956
Al 0.6 + 2.0
47| 9.9 + 2.0
V RPE 0.760 0.456
At 9.3 + 2.0
A7 9.2 + 1.9
VI RPE -0.084 0.934
AbSH 9.3 + 1.9

Values are mean+SD, RPE: Rating of perceived exertion
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| 2=t 7210 TR P4 =

o

o QZ20M0|A| HY|Q} AR WA H3l~ HAut= EHXOZ Q9|0 XHO|7} LIEILIX]| &S
Q=20f n7to| A Hai4 A} (spm)
t P-Value

vad 101.6 + 11.1

I SR ~ -0.152 0.880
AL 102.3 + 10.1
27| 94.9 + 10.6

I SR ~ 0.413 0.684
Al 92.9 + 12.4
Z7] 96.3 + 9.8

I SR . 1.374 0.185
At 91.2 + 7.2

Values are meanzSD, SR: Step rate
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o LI2| 90| A 27| 2f I 2| B E = Fits 2= A2U0M SHAHL2E 7o|ot XO|Jt LIEHE
2209 LY ELCE B lI1 BOfF IV A12har V 12H(p<0.001) 3 VI +12H(p<0.01)0IM =2[et XtO[9F LIEFE

Li2|9) 4o By Bl Z1} (spm)
t P-Value
ZA7| 118.9 + 8.4
IV_SR . 4.326 < 0.001
AL 102.3 + 9.5
A7 121.0 + 8.0
V_SR . 3.874 < 0.001
AL 107.6 + 8.3
27| 116.4 + 7.1
VI SR _ 2.860 0.010
AL 106.9 + 8.5

Values are mean+SD, SR: Step rate, significant difference: **p<0.01, ***p<0.001
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=0t 210 W HMAE Z1)
e Q200X HT|Q} ARlo| M HEEL HAnt= BEXHOZ Q9|6 XtO|J} LIEfLEX| QS
Q208F 70| HE Hall=e At (km/hr)
t P-Value

27| 3.6 + 0.4

I Spd -1.126 0.274
AL 3.8 + 0.4
27| 3.2 + 0.3

II_Spd -0.912 0.373
AL 3.4 i 0.4
27| 3.4 + 0.4

M Spd -0.017 0.986
AL 3.4 + 0.4

Values are mean+SD, Spd: Step speed
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| LH2Ie 12t mm Bs4 s =)

« 2712t tFlo| Y EASE: Eif= B E AU0N SHAKHLE 72|t AHO[O} LIEHE
227F AL EXS[ I EN IV {2k V 2H(p<0.001) % VI #12H(p<0.05)0| A 72/2h At0| 7} LiEls

LH2 |8 70| H+ 2= Ant (km/hr)
t P-Value

47| 4.3 + 0.4

IV Spd N 4.661 < (0.001
ARl 3.5 + 0.4
vad 4.3 + 0.4

V_Spd 4.128 < 0.001
AL 3.6 + 0.4
A7 4.4 + 0.3

VI Spd . 2.229 0.041
AL 4.0 + 0.5

Values are mean+SD, Spd: Step speed, significant difference: *p<0.05, ***p<0.001
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XFO[2} LIELEX] 255

s

-
O

£Hoz Qo

« LETOA 2|2t

(cm)

P-Value

4.9

+l

59.6

27

0.271

-1.136

8.2

+l

63.0

= =

10

[

Hr

!
jod

6.7

+l

57.2

27|

0.079

-1.859

Hr

o__”_
U
jo0
=

7.8
6.5
8.7

+l

63.2

= =y

10

+l

58.7

27

0.424

-0.819

+l

61.5

==y

10

—

Values are mean+SD
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I LH2|BF 22210 stEEAESHA| Z 1}

o LH2|3t0l| A Z7|2f AbsHo| 3H21

vV, vV 22ZoM= S Ao 2 Qo8 Xf0|7} LIEHLIX]

h

\d

25 25 2= VI 2H0f|A
O

DI-'D
=)

oI Al EX0| o 2 Z211F LIE[LH SAHLE

72/ (p<0.05)

L 2|9 f7te| stas 25 24t (cm)
t P-Value

. A7 60.5 + 5.5

IVotdE B _ 0.525 0.606
AL 58.4 + 12.0
_ a7 59.7 + 45

V SHA8 BEX _ 1.187 0.251
ALSH 55.5 + 10.0
B A7| 64.6 + 36

VI SHE& B . -2.802 0.012
ASH 70.8 + 6.0

Values are meanxSD, significant difference: *p<0.05
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Q AFSHO| HR
e 2200|A HR2 ZE 2H0j|A| HI|t Atsto]| SH|H o =2 Q2|6 Xt0|2} LIEILIX| 42
=8t 17to| A7t At HR (beat/min)
t P-Value
vad 115.4 + 13.7
I HR _ -0.925 0.362
AL 120.1 + 13.2
A7 140.3 + 15.6
I HR . 0.862 0.396
AL 135.3 + 14.9
vad 133.6 + 17.8
“HR . -0.461 0.648
AbSH 136.5 + 16.1

Values are mean+SD, HR: Heart rate
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| LH2I2t 22 27|19 AR HR HI
o LH2|Tfe| 2= 20| A HI[2t 2FHO[A VI S12kef AFell Al 20t ZOF SAHKHLZ {F2lgh X0| 7t LIE}E (p<0.05)
IV, V RN = 27| 2t oM SAHLZE {o|oh X072} LIEFLIX| Bi5
LH2| 5 ko] #7[2f +FH HR (beat/min)
t P-Value
2 102.9 + 12.4
IV_HR ) -1.550 0.132
alg-l 110.5 i 14.4
2| 105.4 + 13.8
V_HR ) -1.215 0.234
gl 112.0 + 15.7
=2 101.9 + 13.6
VI_HR ) -2.201 0.036
ALl 1134 + 14.5

Values are mean*=SD, HR: Heart rate, significant difference: *p<0.05
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| o205

—ZF ALOIC] 4] Al 27|22} Afe HR H|

D

Holl HRZ NI~ IV F2to| 2| =S Alof AHHof| A Cf ZOF SAIH 2= |F2o[gh X[0] 7} LIEHE(p<0.05)
T~ RZHM S 2|9} Akl X{o|} LIEFLIX| obg

=)

20r S Al J1740] A7|F ArSH HR (beat/min)
t P-Value

A7 92.3 + 12.7

I-I HRc ~ -1.813 0.080
Abl 100.8 + 11.9
A7 104.3 + 11.8

OI-II HRc . -0.793 0.434
AbSH 108.3 + 15.8
27| 103.8 + 12.2

M-IV HRc . -2.088 0.046
AbSH 113.6 + 12.8

Values are mean+SD, HRc: HR recovery, significant difference: *p<0.05
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Of ZJ|QF Afel AAILSIE H| 1

Of

+ Q20t0jlA 27|9f Aol AATSITE SHHO 2 QO3 A0|} LIEHLIX| 943

LS O

-

Q20F 7I0| H7|Q} At AtATTE (%)
t P-Value

27| 96.1 + 1.0

I SpO, _ 0.558 0.581
ArSH 95.7 + 2.7
27| 94.9 + 1.5

I _SpO, . -1.559 0.130
AL 95.7 + 1.3
A7 95.7 + 1.3

_SpO, . -0.060 0.952
Aol 95.7 + 0.9

Values are mean+SD, SpO,: peripheral oxygen saturation,
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| LHZISIO| 247|9F ASH ALATISIE H|m

« BE Lj2|3 ZRH0)N 7|9t Aol AATSE ATt SO §

o|3}F 0|7} LIEFLEX| OF2

—_ =]

{23 72ho| 2|9t A MATetE (%)

t P-Value
27| 96.4 + 1.0

IV_SpO, . -0.021 0.983
At 96.4 + 2.0
77 96.3 + 1.2

V_SpO, _ -0.230 0.820
Al 96.4 + 1.6
vad 96.7 + 0.9

VI SpO, _ -0.207 0.838
AL 96.7 + 1.1

Values are meantSD, SpO,: peripheral oxygen saturation,
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e QEONOJ|A HY|2t MO MRS HE AltE SHXHORE Fo|ot XI0| 2} LIEfLIX| &S
Q=20 A7to| X|CjAletss CHH| MOi2sZ T Znt (%)
t P-Value
27| 66.0 + 7.7
I HR% _ -0.913 0.369
AL 68.5 + 6.8
27| 80.3 + 9.4
I HR% _ 0.856 0.399
AL 77.5 + 7.8
27| 76.4 + 10.8
_HR% ~ -0.476 0.637
AL 78.2 + 9.2

Values are mean+SD, HR%: Relative exercise intensity compared to maximum heart rate
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| Lizies

I2t0] AITHAEA [HH ATHRS

2 21}

e QETI0[A HI[2} Lo M R2EZE Z1t VI A2H0f| A AHlo] &=t =0 SAHH F2]/d0| LIEHH(p<0.05)
IV, V 12E2 2|2} LElioj|A SAHH S = F2o|ot XIO|7} LIEILIX| 2=
LH2|9f F7to| X|CHAlEr CHH| MOl sZ = ZAq} (%)
t P-Value

A7 58.7 + 7.3

IV_HR% . -1.583 0.124
AbcH 63.2 . 8.2
-l 60.2 + 7.7

V_HR% . -1.322 0.197
At 64.1 + 8.3
27| 58.3 + 7.7

VI HR% i -2.311 0.028
AL 65.0 + 7.9

Values are mean+SD, HR%: Relative exercise intensity compared to maximum heart rate, significant difference: *p<0.05
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e Q20t0J|A| HD|2t AtSHo| M2 SUE HitE SEAHX O R 9|3t X}O|Jt LIEILEX| S
Q20 J17to| of QAlEtS [fH| ACjeSZE Aqf (%)
t P-Value

£ 38.9 - 9.8

I HRR% ~ -0.802 0.429
ARt 42 .1 + 12.1
a7 65.1 + 14.0

_HRR% _ 1.296 0.205
AL 58.6 + 12.4
vad 58.3 + 15.9

_HRR% ~ -0.348 0.730
A 60.3 + 14 1

Values are meant+SD, HRR%: Relative exercise intensity compared to HRR
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| LH2IE F210| OiRAlEi [HH| THRsSZE Z0t

o LH2|2f0i[A 212t 20| HT2ETE 21, AN 233 =7t =0t

- O—

V 72Hp<0.05), VI 22HiA| S7F Q2| 40| LEFEH(p<0.01)
V 72H2 27|et MeollA SHOR oI8t A0|3} LIEILIX| %43

h

L 2|3 ZFe| O JFaldfs CiH| U254t 21} (%)
t P-Value

A7| 25.1 + 8.4

IV_HRR% . -2.070 0.047
Al 32.7 + 11.9
47| 28.2 + 10.0

V_HRR% . -1.371 0.181
A 34.0 + 13.2
A7 24 .4 + 9.4

VI HRR% _ -2.785 0.009
AbSH 35.4 1 12.3

Values are mean+SD, HRR%: Relative exercise intensity compared to HRR, significant difference: *p<0.05, **p<0.01



55

o
ety

45

2 C}

%4y

- =
> 30

15

10

g

27

a5

510

§ A R A R

%HYH Al

[y
-y

=]
-

s

a7

50

g

Q

10

R R

%UYH IA

e

=1




SZACOLH 0t EAX L2 {o|ot XjO| 7t LIE}H (p<0.05)
|l 2N EHX O R QO|8H X}O| 7} LIEIL}X| et

LS OO

208 70| =&Y FHE 4di} (score)
t P-Value

27| 11.1 + 1.8

I RPE 1.696 0.101
Al 9.8 + 2.2
a7| 14.0 + 1.4

_RPE - 2.280 0.030
AL 12.7 + 1.7
47| 12.4 + 1.4

_RPE - -0.060 0.952
AL 12.4 + 1.0

Values are mean+SD, RPE: Rating of perceived exertion, significant difference: *p<0.05
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O

o LI2[20f|l M ZO|2t 2Hle] =8N 2EdE 2l SAHLE 72l Aj0[9} LIEtLIX| &5

LS &3

-

Lj2|9f pZto] FaA 2SZE At (score)
t P-Value

A7 9.2 - 1.9

IV_RPE -0.548 0.588
ALl 9.6 + 2.0
A7l 9.9 + 2.0

V RPE 0.860 0.397
Aral 9.3 + 2.0
A7 8.9 + 1.9

VI RPE -0.559 0.581
Al 9.3 + 1.9

-
Values are mean+SD, RPE: Rating of perceived exertion,
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Q2otofA 7|9t Atsto| WR B34 Hits SHXOR o

rﬂ*

b XtO|2t LIEILEX] 255

=]

@29 7io] By B4 At (spm)
t P-Value

27| 101.6 + 10.5

I SR ~ -0.164 0.870
AbaH 102.3 + 10.1
27| 94.1 + 9.8

SR _ 0.289 0.775
ALl 92.9 + 12 .4
Z7| 95.3 + 10.3

"SR ~ 1.162 0.255
Abah 91.2 + 7.2

Values are mean+SD, SR: Step rate
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* LIZ|S0 M 2|2t £HE2| B Bl Bit= 2= 120AM SHHL2 = {2l X[O[It LIEHE
2217t LHE B Bl =01 Ot IV 12kt V 4128(p<0.001) & VI 112H(p<0.01)CIA 72[et AtO|2t LIELE

Lf2|2t F7to| B 23 ZAq; (spm)
t P-Value
A7 117.7 + 7.9
IV_SR . 4.832 < 0.001
Al 102.3 + 9.5
A7 119.5 + 8.2
V SR _ 3.883 < 0.001
At 107.6 + 8.3
27| 115.1 - 7.4
VI SR R 2.809 0.009
AL 106.9 + 8.5

Values are mean+SD, SR: Step rate, significant difference: **p<0.01, ***p<0.001
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e Q20t0j|A] HI|Q} AMSHO| WA HSHAE AN EHXOZ Q9O|St X[O|Jf LIEILLX| 42
208 A7to| Hy HALZE At (km/hr)
§ P-Value

A7 3.7 + 0.3

I_Spd . -1.025 0.314
ALl 3.8 + 0.4
27| 3.2 + 0.3

II_Spd _ -1.472 0.152
AL 3.4 + 0.4
27| 3.4 + 0.3

I_Spd ~ -0.122 0.904
AL 3.4 + 0.4

Values are mean+SD, Spd: Step speed
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| Lizigt n2to| Mz &
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I

S0 ALl

o 27|2} itlio] B HAlSE FZuf, HI|t **ﬂ"EEr HMHSEO) RE Z0pof LIEFL
IV 32Hp<0.001) & V 312Hp<0.05)0|M K|t Xt0| 2} LtEFS
VI 220 M= 22|2f 2h 2| XpO|2t LIEILIX| 243

=l

Lj2|Tt f7te| By Bl AL} (km/hr)

t P-Value

vad 4.2 + 0.4

IV_Spd 4.259 < 0.001
AL 3.5 + 0.4
Z7| 4.1 + 0.5

V_Spd 2.654 0.013
ALl 3.6 + 0.4
27| 4.3 + 0.4

VI Spd 1.784 0.095
AL 4.0 + 0.5

o

Values are mean+SD, Spd: Step speed, significant difference: *p<0.05, ***p<0.001
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rE=He| S

—_—
o

Q=8 7190

[t XtO|9} LIEILEX| P45

« LEBO|A 272t

(cm)

P-Value

5.7
8.2
7.9
7.8
7.0
8.7

+l

61.0

27

0.450

-0.767

+I

63.0

==

10

-4

+I

57.3

27

0.064

-1.935

+

63.2

==,

10

4

+I

59.4

27

0.493

-0.695

Hr

0|0
u

+l

61.5

==

10

-1

Values are mean+SD
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| Lh2I2r 22to| sre el 2l

. Li2|2tojlAf 27| 9f Abso| SHAS HE b v ZboA A Al HEO| Of 2 HIE LIERY
S =02 Qo|3t X0]2 H 2 (p<0.05)
V, V 22HNS SHXO 2 Q9|3 A{O|J} LIEILIX| 9t

Lj2|at 27to| st S EE Z (cm)
t P-Value
. A7 57.5 + 7.6
IV otEs BEX . -0.247 0.807
At 58.4 + 12.0
. 27 57.8 + 8.2
VetEs BES . 0.645 0.524
At 55.5 + 10.0
N 27| 64.0 + 6.7
VI SHES EX -2.692 0.012
AL 70.8 + 6.0

Values are mean+SD, significant difference: *p<0.05
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=3k

At
- HR%, HRR%
| —'rl?_f: SUT

|| IEerd - £ S
QEEII-I c:)s__l_l. AT
22 22k XY

- RPE
| P2 MY
I, ll {2 SUE
LHz|ot 22t M2

. 2]

- V02, METs
| 2k =AE
(=] 5= P13~

- EE
| 32t 404 kcal/h
Il 712F: 518 kcal/h
Il F£2F: 440 kcal/h
LH2[3F 12t 265~289.7 kcal/h
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